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   

 

 

 

TIRentabilitéRnterne de IauxT 

                
             

 

1  



              
               

 
2  



TRI 

 
 

21

      r       VAN

(VAN=0)
            

                

r(𝑟ଶ𝑟ଵ) 

 

 
 

06
 20232024 

  
 
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(𝑟ଶ𝑟ଵ),𝑟ଵ0𝑟ଶ

0

r1rr2r 

 
     5   240.000   

 

N 1 2 3 4 5 

CFN 100.000 120.000 120.000 80.000 60.000 

 

10% 

VAN = 100.000( 1.1)-1+120.000 ( 1.1)-2 + 120.000 ( 1.1)-3 + 80.000 

( 1.1)-4 + 60.000( 1.1)-5– 240.000 

VAN=132136,78 

20% 

VAN =100.000( 1.2)-1+120.000 ( 1.2)-2 +120.000 ( 1.2)-3 

+ 80.000( 1.2)-4 + 60.000( 1.2)-5– 240.000 

VAN=58804 

 

30% 

VAN =100.000( 1.3)-1+120.000 ( 1.3)-2 +120.000 ( 1.3)-3 

+ 80.000( 1.3)-4 + 60.000( 1.3)-5– 240.000 

VAN=6718,9 

 33% 

VAN =100.000( 1.33)-1+120.000 ( 1.33)-2 +120.000 ( 1.33)-3 

+ 80.000( 1.33)-4 + 60.000( 1.33)-5– 240.000 

VAN=5981,85 



30%(𝑟ଵ)33%(𝑟ଶ) 

(𝑟ଵ)(𝑟ଶ) 
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22 

            4   r
r

 

  ቂ
ଵି(ଵା௥)ష೔

ቃ4 

n 

 

4

          (r1,r2)  r1rr2   

r1r2 

    500.000  

10100.000 
 

1 

4r 
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𝑟

2 
 

04n=10 

r%15%16 

 

 

 
𝑇𝑅𝐼 = 15% + 0,101% = 𝟏𝟓, 𝟏𝟎𝟏%  

3 

  

TRIt 

  TRI=t               

TRIt 

               

TRIt 

3  
 

-  
-  
-  
-                

 
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- 
 

 
-  
-  
-                 

               
 

- 
 

10.000

30.000        

10.000161.8%, 61.8% 

𝑥 =
ଵ

ଵା௫
 

𝑉𝐴𝑁 =  30000𝑥 − 10000𝑥ଶ − 10000=0 

10000𝑥ଶ + 3𝑥 − 1=0 

 
-  

 

N 0 1 2 

CFN 10.000 30.000 35.000 

 
4 VANTIR 

    VAN  TIR        

VAN TIR 

    VAN  TIR        

 
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 TIR

VAN 

 VAN 

 VAN 

TIR


 

 
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